


14. Let v be the straight line connecting A = (1.1,1) and B = (1,2.4), and let
?(:{?, y,z) = (2zyz, 222, 2%y). What is IN ?dr =7
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7. Let ?(:1:, y,z) = (62%y —4yz3, 223 — 4223, —127y2z?). Check that wether the /4 ( 14, 1)
vector field ? is conservative or not! If it is, provide the potential function! /) < ( 1,01 )
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7. Let ? (6x%y —4yz3, 20% — w23, —12xyz?). Check that wether the /4 ‘( 1 1 /L)
vector fie ld ? is conservative or not! If it is, provide the potential function! /fj < ( 1,0,~1 )
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15. Using the planar version of the Curl-test, provide that the following vector /

fields are conservative or not. If it is then give the potential function. Give

reasoning if the Curl-test is inconclusive JH L7 A’OTIH‘,‘ I Ay
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16. Let ?(:r.._ Y, 2) = (;1:_2: z,1y). Is it possible to use the Curl-test? Iry to guess

the potential function! Is the vector field ? conservative?
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17T.Let S = {(x,y,2) : 22+ y* = 4and 0 < 2 < 2} be cylindrical surface P - o
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with normal vector pointing in the direction of the axes z.
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2. Let H be a triangle with vertices A = (0,0,1).B = (1,0.0) and C' =
(0,1,0). Consider the constant vector field ? (r,y,2) = (1,2,3). What is
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2. Let H be a triangle with vertices A = (0,0,1),B = (1,0,0) and C =
(0.1,0). Consider the constant vector field ? (r.y,z) = (1,2,3). What is
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18. Let ?{ r) = ﬁr and let F the surface of the unit ball with normal vector

pointing out. What is f f r ?d? ="
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